APTET - Paper — IA — 2024
SET -6
CDP

This stage is called as Exploratory stage
1. Pre childhood
2. Late childhood

3. Infancy
4. Adolescence
A 31ARAT Pl (AU 31 FHad 3|

1.  gd Ircadie 3maRRn
2. 3R AICIBIA 3aAT
3. derarazen

4. fopenvraen

Intrinsic motivation among the following
1. Praise
2. Self Satisfaction

3. Punishment

4. Reward

oA A 37dRes U0 A 3
L g

2. 3iAAgRe

3. ol

4. oA



Operation that takes place in the interactive phase
1. T.L.M preparation

2 Formulating objectives

3. Evaluation

4 Subject explanation

gelildea ROT A glAarel BrRiGH a5 8§

1 T.LM &t dIrt

2. 3QW B fermuur

3 HdTdbel

4. faum O

The ability that is tested through Essay questions
1. Relearning

2. Recall

3. Recognition

4. Recapitulation

ferdencs ugl & AT 3T A 21T B U ol STl 3
1 YeAaIRA

2. el THZ0T

3.  ugde

4.  GT:QERul



Language development starts with cooings, babbligs and
gradually leads to conversations as per the principle

1. Principle of Individual differences
2. Principle of continuing

3. Principle of uniformity of pattern
4. Principle of integration

HTYT BT BT Ugel JadbRe, HISH ardl A IS gidR
HATGAR AT BI 3R Teel DI Jg fabrar &1 for=rd
T 3T Bl

1. frem A dufms fiean gidr 3

2. faopra sifakset gar 31

3. [Iera vs Ffdad deqe &1 3Rl & g

4. Taera dATh gian gl

The highest level objective of Cognitive domain
1. Knowledge

2. Application

3. Analysis

4, Evaluation

HSATHS &1 A IAdHA TR BT @8I 4§ g
1 ElC|

2. 3T

3. faeqwor

4 Hdiehel



Teacher acts as a facilitator in

1. Learner Centered Paradigm

2. Teacher Centered Paradigm

3. Subject Centered Paradigm

4. Classroom Centered paradigm
1zt Jhaemsierar & wu A JgT 314 3l
1. freneff Figa afaeme A

2. TR diea ufdee A

3. Tau=r siga ufaqame A

4. 2N digd HfcqHE A

Concepts cannot be acquired through

1. Memorization

2. Innovation

3. Examples

4. Similarities & differ@nces

TAD ATETH A 3(AERUNE YT g1 B ST Abd! 3
1 Ted A

2 3NTspR A

3. 318301 A

4.  goer 3R AR A



10.

Teacher is explaining about Vegetables by showing them. The

thinking of children at this situation is

1. Imitative thinking

2. Concrete thinking

3. Logical thinking

4. Abstract thinking

fRrers Afer fesmds 3 IR A JHST B 2 39

siaef 3 Tl @ @ g 3

1 Hegeeitel AT

2. Id A=

3. aifhs A

4.  3qd A

Stimulus acts as a reinforcer in this theory
1. Classical Conditioning

2. Trial and Error learning

3. Operant Conditioning

4. Social Learning

HR P Ig vh Rigia A et gedaa &
PRBI b T A B Bl gl

1 Asnifersp ferderst

2. uI 3R e A=
3. Trarcs fedes

4 AP farem
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12.

Guidance which is given when a student is not able to focus on
his studies

1. Personal guidance

2. Educational guidance

3. Vocational guidance

4. Transformational guidance

BIST 31Ul UeTs & €Tl biad &gl B2 uld JAFTI I
FARfeefe fe=m oirar B -

1. i Apfefa

2. deifors APGefa

3. OAIRIG ARG

4.  URqde®R! ARl

Find out the wrong statement

1. Physical Development is very rapid at Infancy

2. Development of intelligence comes under Moral
development

3. Emotional development depends on learning &
Maturation

4. 3 — 4 years children participate in Social play

FIH A TG IeTd HAA g

1. QreraraRen H RR & fawrA dsit A giar gl

2. gig faem &1 ddy Afas e | 3l

3. HEAHSD [P ATe 3T uRuaar a2
ferafs @zar B

4. 3-4TA & I AP el A AT dAd 8l
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14.

15.

Interpersonal Intelligence is possessed by
1. Scientists & Engineers

2. Biologists & Athletes

3. Philosophers & Artists

4. Psychologists & Politicians

Juferaes Fde gig & oot F gid 3
1.  Jsifer vd EoiiferR

2. oig fagmen 3R Rardl

3. cnffes 3tk wamer

4.  HAIdsNfels U sTeiticrst

Factors needed for riding a bicycle.
1. Growth & Development

2. Development & Aptitude

3. Maturity & Learning

4. Growth & Interest

ATSIBA TAT BT 3MTARB PREB I 3
1 gl vd fasra

2. TaB™ Uvd UTplas e1aHdl

3. uRudmar vd J=A

4 faera vd s

As per this theory a person who can repair a motor car can also

repair a motor boat.

1. Theory of Generalization

2. Theory of Identical elements
3. Theory of Ideals

4. Theory of Transposition

A Igid & 3R & Afdd Alez HR Pt AZFHAA
BT AhdTl §, dg HAle dic B AZFAT M BT AhdT 3.

1 ATHTRINBIOT BT Rregia
2. JHASY dcl b1 RAgia
3.  3feer o fagid

4 TRATATeaRYT BT Rgia
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17.

18.

A condition which sustains the attention of a person for a long

time is called

1. Attitude

2. Memory

3. Aptitude

4, Interest

B =fera BT ATl did JAHA db 0 THTa bt RATT Bi
UgdIelv

1.  #AAgla

2. Hia

3. YUpidd AT

4, PoIC]

Which is not the characteristic of good learning environment.
1.
2.
3.
4.

Pleasant physical amenities

Stimulating Environment

Lack of good social relation among students
Facilities to support learning

MBS BT 3BT ARIA BT I fadwar =gl 3l

1

2
3.
4

e Afae ga-ghaan
U aIdTaoT
Il & AT 38 AASIS FHdell BT 3THT

A= Bt FgrEar siew Fhremd

As per NEP — 2020 pattern of education system
NEP - 2020 & 31AR 1T S0lTett &1 T30 48 o

1.

2.
3.
4

5+3+3+4
3+5+3+4
3+45+5+2
S+3+5+2
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20.

21.

Children do bargaining at this moral stage

1. Obedience and punishment orientation

2. Good boy — girl orientation

3. Self interest orientation

4. Authority and Social order orientation

el Sfdep IR U I HAlAAT HId &

1. 3MsipIRar 3R &8 stk

2. 378 qAIA® - JlfcidT 3ffHfaeara

3.  AgS Fa¥ AgARN AdY it

4.  wfEEpROT 3TR ATHISIG gazen vdere sififasm

A reading disability
1. Dysgraphia
2. Dysphasia

3. Dyslexia

4. Dyscalculia
Uge &l 31T TG B
1 fezronftean

2. st

3. fEacfeen

4 [EREAIGRGE

ICT — mediated teaching learning doesn’t encourages

1. Learning by doing

2. Critical thinking

3. Passive Learning

4. Research & Evaluation Skills

ICT 3menia & faremor 3iftpma s defga =gl war

1. Pk e

2.  3TATecHSB A

3. foftpa faren

4.  3TFHAUTS TA FHeATD DIE
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23.

Popular ICT Platform used for collaborative learning and
document sharing in education

1. Microsoft Excel

2. Google Classroom

3. Adobe Photoshop

4. AutoCAD

farenn & FgAHSD 1312101 G TSt 3METe-eTe BieTw
3TN BT FI Ig 3

1 HATSBRATGE TRAd

2. I[9TeT deflA™A

3. USId Wl

4 3ficidbs

The condition of being unsatisfaction of motive is called
1. Conflict

2. Maladjustment

3. Anxiety

4. Frustration

i # 9RO 3RAG gl &t Rafd g wgardl gl
e

FATATIIGTET

3iqdle
delld

L
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25.

26.

The main objective of RTE ACT - 2009

1. Providing free textbooks to students

2. Providing free and compulsory education to children
3. Promoting private educational institutions

4. Limiting access to quality education

RTE 3ifferra - 2009 &1 H3T 35T 48 3

1. faeeifn @t for:gew urea gead uce wRre
2. I P Fof:eres Ud 3iferared e uarer e
3.  foroft fareror Tiverme &t aerar 2l

4.  Sugdgds e @R Bt AT Heel

As per Philip Arice Childhood is

1. Natural
2. Parental Construct
3. Social Construct

4. Biological
iy eRA & AR, acaRen I3

1.  Tpiaed

2.  HArar-far & gR1 @aierd
3. A & ZART SJdiid
4. Sfaw

As per this perceptual law, we perceive the things that are

identical in Size, Shape, Colour as a group
1. Law of Continuity

2. Law of closure

3. Law of Symmetry

4. Law of Similarity

A el oIt & 31AR St uRUNA, 316, 3T A UH
AATS Igeldiell DI §H HAHG & U H A ol

1 3R e

2. ROl o

3. JFASUA oA

4 JHATEar ferra



27.

28.

29.

Example of Experiential learning

1. Rote learning

2. Learning by hearing

3. Learning by doing

4. Learning through discussions
IHATEHD 31TEOTH BT TG TP 3RV o

1. Ed 313

2. GeIdR HAFEl

3. @b AFET

4. i F AEIA A A|En

Objectivity is more in this Method

1. Introspective Method
2. Interview

3. Rating scales

4. Experimental Method
A [ty A 31 agferean 3
1. 3@l fafy

2. HI]TTchIR

3.  JcHiBd B UHATE

4. HEIREE fafd
Persons ‘Ego’ is ruled by

1. Idealistic Principle

2. Realistic Principle

3. Pleasure Principle

4. Psychological Principle
TeRT BT ‘3EBR’ A UT MR gl

1. 3meef g Ragia
2. gerefard Rrgia
3. it &1 Ragia
4.  FEtAs Ragia



30.

Author of the book “The Process of Education”

1. W.B. Watson

2. Francis Galton

3. WC. Bagley

4, Jerome Bruner

fare1m &Y ufeh=m The Process of Education 31 &

TIATPR A 3

1 St dfl. areHe
2. WiferA. Sleed
3. s, Al awd
4.  ORIA PER



31.

32.

Hindi

feroer foiRaa slaaier uess ia &= orRm uee &1 3TR
G

TP AN Afdd Heal o

3ref g & Tt A

3R HoTT 3A I
NI &b B A

&l pT IUHIT HA fopam sirar 82
1.  HPYAKE & B A

2 3TAIATE &b B A

3. JgHPIERE & Bl A

4 ferarfogare & Ba1 A

fereer faRaa werier e i &= T wea &1 3R
Giie]

HeA-Bel SR Hel g2, JA feraR A

Je-de 4l ge o eudd dAd gl
Je-d¢ A FAT HIaT 37

1. Hel

2. gc
3. P
4 qree!



33.

34.

35.

feroet faiRaa oterier e = = R wee &1 3T
dfsto

ANg2, qTell, Ag 37E I 31eid Imelt A A TS B
I3 IREA GSEI B AT AT off et B

I el fp ure A &= omim 3?

1 diwona

2 HTS BT OH
3. A%wddl &1 HA
4. 3o

fereer foiRaa oterier e = = R wee &1 3T
Afsto

ArerRord: fhon? vd fhenfi=n & shad A 3ad Aar-fuar,
Jeholell Ta# i HAZUISHN BT HAgeayul T2t giam 3
fpenz vas fpenf=n & Sfiae & Rearat samer Agayot
<igl 82

1 IFeTe

2 qeetel

3. HArar-fuar

4 Tgurien

foreat # A gig Ay &1 3g18e0T gEneT|

. TU® + UB - Ubd

2. 3¢I + 3F@d - IS
3. 2d+ %< -dg

4 a3 + 37 - e



36.

37.

38.

39.

Jg! auf fade uganerv|

1.

A+A+T+3H+T+A+T+3A+B+3+
T+ 31+ 0+ 3
A+T+A+T+T+3T+F+3F+I+37+
o + 3
A+T+A+I+U+HA+H+F+I+3M+
o + 3
A+T+A+T+N+H+H+F+I+37+
o + 3

‘Rz’ & Tp12 Aicten AUl & 3iavfa sy azg 3t

Ui TA AT BT HAlfeld 31T 3

1 B3 TIUS! BT T

2. TS & fafdre 3gea &1 e
3. IOId &I Fedidse

4 B3 TIUS! Bl fabrA



40.

41.

42.

43.

44,

318 Riere & Adg A AsA AT 390 R 31w ad
fen?

1 TRIOTIcHSD HellfasiTel
2. PgH HAAIae

3. dTel #elfersie

4 Faferae FefasTe

i} PTPBT BTAADB b ZaRT UG RRroft o Meret

uTe & A AN Jaid A ot o= 3l

1. wa=d

2 JAaAtzdr

3. Hdiex

4 g™

gad BN fofor o1 1 fabed g

1 GIED]

2 1163

3 oreT

4 Pdr

A dgadel U UgdIiely
gA1RR



45.

46.

47.

48.

gTefl-uTelt gle HgIaR &1 31ef uganferw

1
2.
3.
4

31férep e
et ghem
T P
sHd el

FHel o af wrdt A T -
Perad o1 31ef ugarferv|

1
2.
3.
4

afe A geg 3 al dierfeat &Y 3maeamsar g1 3
Al A Y& g Al BIA Hel Bl AT TGl 3
afe 7 g 3 @ gom Heel afgul
afe 7 g § al dierfes s Apel

qIRT B A HHA A ugAIeiv|

1
2
3.
4

ot it e o T g ga?
gHA T IS S =i oft aEd?
T g e a9 i i e
saef T SR i o gE Y

31paDb qTeT UGI(TC

1.

2.
3.
4

erfes Raa §

deig gzas vgar 3l
holeg A zmar 3
Mar A< FT Bl



49.

50.

51.

52.

Bice UTT-RIT B g A B 37 Heh-1Ta FJaaT
Aha 31 Riamr & A Rigidl # a8 Rigia sude
e &t Tuse war gl
1. frameE o1 Ragia

2. Iga Pl Ragid
3. ammafa &1 Rreia
4. 9RO &7 fAgid

JTcics dTSTHGA & IR A Sileldl §, dl 33 e &
3R UR 2NESTa] & a1 A adran off JAbdT &1 33 freror
A & 3idota 37ar B

. POIA A Bice I 3N

2. od A 3Ed @t 30

3. 3iferekia A Ffdaa & 3=

4. qof A 3ier B 3R

HTIT & T T 3efarar Iis o ol & R A ToTh
AU-AT U<l BT oA Bd &, 3A IS BEA B ......
1. =

2. g™

3. 3Tt

4. U=

‘stferarfdra’ ot A U= ugaferv|
1. fHa

2. B

3. 3ife

4.  Ba



HTe A 3B $B U9l e 31 Suda araerier A A

gt @ik R & gy diaR Al RN 3 a9 A TaEs
TSI’ Bl ugdAIterC|

fargst

HER

g
A STl

sl A e

AT ATS TS Inefioht bfete g1 A aft 31 A
Je 1917 & a oitefioht F oy ugd A I AT A
A’ 9T A AdATH DI Alel Bl gl

1 ferotames Fdama

2. faoTeame Adara

3. gHuarad AderH

4. ifcroTame Adam



57.

38.

59.

60.

ST 9oTec A sl 31RMAT AdTH Bt JASAT BT 9l gidT g,
33 39 fa9iwur A 3l
1. JurEEs faeyor

2.

3. Adentde faoiyor

4,

e & RR R AT R F 31T P& H1 ARG 3!

A I A RITedaraes foear [T o uganteu|
1. 3@EER

2.  TAdb
3. 3iez
4. JFIAFAI

freror @1 TTHET 31ef T B:
1. dTeld Bl ST TSI Bl

2. FTS @ Sl
3. e P FURA

4. 3yl ST T FHel

IrRrae fren & Fafdg & Fu A gD off e ot
P g Fde Rniug HIar gl

1. R

2. S E®

3. faw=

4. Temor
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62.

63.

64.

65.

ENGLISH

Sarath is reading a book right now.
The above sentence is in:

1. the present perfect tense

2 the past continuous tense

3. the present continuous tense
4 the future simple tense

Choose the option that correctly describes how the present
continuous tense is formed.

1. Subject + is + past participle of verb

2 Subject + are + past participle of verb

3. Subject + auxiliary verb (is/am/are) + verb (ing form)
4 Subject + has + verb (present participle)

Choose the grammatically correct sentence from the following.
1. Let the boy to go.

2. Let the boy go to.
3. Let the boy go.
4. Let go the boy to.

Choose the discourse marker that can be used to ask for

clarification.

1. Indeed!

2 Can you explain further?
3. Any way...

4 Firstly...

Choose the correctly punctuated sentence.

1. Have you seen my keys, phone and, wallet?
2. Have you seen my keys, phone, and wallet?
3. Have you seen my keys, phone and wallet

4. Have you seen my keys phone, and wallet?



66.

67.

68.

69.

70.

Choose the correct sequence of the words in which they appear
in the dictionary.

A) describe B) develop C) demonstrate D) demand

1.

oQpw
NowI
> OO
w > O

2.
3.
4

One of the following is not a linker indicating addition:
1. furthermore

2. instead
3. additionally
4 moreover

Select the following sentence that is a complex sentence:

1. The sun was shining brightly, so we decided to go for a
picnic.

2. She wore her favourite dress, and she felt confident.

3. We stayed indoors because it was raining heavily.

4. Jack and Jill went up the hill to fetch a pail of water.

He will come to the party he finishes his work.
Choose the correct conjunction to complete the sentence.
1. N

2. because
3. until
4, when

One of the following is not an example of a concrete noun:
1. tree

2. joy
3. house
4 river
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72.

73.

74.

75.

Choose the phrasal verb that means ‘to cause something to
happen or occur.’

1. look out for

2. take over

3. bring about

4. get away with

Choose the sentence that is appropriate to use when expressing
a fact or providing information.

1. Exclamatory sentence
2. Declarative sentence
3. Imperative sentence
4. Interrogative sentence

“Master, is anything wrong?” asked the Dog.

Choose the correct indirect speech for the sentence above.

1. The Dog asked his master whether someone was wrong
2. The Dog asked his master was anything wrong.

3. The Dog asked his master if anything was wrong

4. Master asked the Dog if he was wrong.

Nobody ____ come for the party yet. We’re still waiting.
Choose the correct verb that fits the blank.

1. 18

2 have

3. has

4 are

A disease which is spread by direct contact.
Choose the one word substitute for the expression above
1. incurable

2. infectious
3. fatal
4. contagious



76.

7.

78.

79.

80.

Choose the correctly spelt word

1. aironautocal
2. aeronautical
3. aeronatical
4, aironatical

He told me that he knocked loudly on Mr. Nath’s door that
evening.
Choose the synonym of the word ‘knocked’

1. pushed
2 pulled

3. banged
4 pounded

“But the man didn’t go, nor did he stop talking.
Choose the antonym of the word ‘go’

1. stay

2. leave

3. depart

4. move

Children’s are taken into account while designing the

learning curriculum and textbook.
Choose the option that fits in the blank.

1. psychological development and interest
2 financial status and family background
3. political status and parental income.

4 height and weight

The expression ‘Communicative Competence’ is coined by:
1. Harold Palmer

2. Swain
3. Hymes
4 Michel West



The following dictionary best suits at the primary level to
teach English.

1. Advanced Learner’s Dictionary

2. Masters Dictionary

3. Pictorial Dictionary

4. Thesaurus

While teaching a lesson, audio — visual aids must be used.
1. wherever necessary

2. before announcing the topic

3. while students are making a noise

4. after giving the assignment

Read the following passage.

The mountaintop was shrouded in mist, lending an air of
mystery to the rugged landscape. Pine trees stood tall, their
branches swaying gently in the mountain breeze. A solitary
eagle soared overhead, its majestic wings outstretched as it
rode the thermals. In this lofty realm, nature reigned supreme,
untouched by the chaos of the world below.

Select the correct statement based on the passage:

1. The mountaintop was clear, with no mist obscuring the
view.

2. Palm trees lined the mountain slopes, swaying in the
breeze.

3. The eagle was perched on a rock, not soaring overhead.

4. Nature's beauty was marred by the presence of

pollution.
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85.

86.

87.

Read the following passage.

The mountaintop was shrouded in mist, lending an air of
mystery to the rugged landscape. Pine trees stood tall, their
branches swaying gently in the mountain breeze. A solitary
eagle soared overhead, its majestic wings outstretched as it
rode the thermals. In this lofty realm, nature reigned supreme,
untouched by the chaos of the world below.

Choose the correct statement based on the passage:

1. The mountain breeze was harsh and biting.

2. The mountaintop was bustling with activity, filled with
tourists.

3. The eagle's wings were folded as it rested on a branch.

4. Nature remained untouched by human interference in

the lofty realm.

The following is not an ELT method.
1. The Direct Method

2. The Social Method
3. The Audio — Lingual Method
4. The Silent Way

The following breaks the ice by adding variety to the regular
activities

1. A Language game

2. Idioms and Phrases

3. Proverbs

4 Frequently used words

The player passed the ball the next player.
Change the correct option that fits the blank
1. above off

2. off onto
3. upon to
4. over to



88.

89.

90.

The third conditional is used to talk:

1. about future

2 about scientific facts

3. about habitual actions

4 about hypothetical past situations

Choose the modal verb that is used for making a deduction or
expressing certainty.

1. Can

2. Shall
3. Must
4, Would

One of the following is not an instance where articles are
typically omitted. Identify it.

1. Names of feelings in general sense

2. Names of academic subjects

3. Names of villages

4. Names of rivers



91.

92.

93.

MATHEMATICS

Sum of the place values of 6 in the number 67426.

67426 TZAT A 6 B IR AT BT AT

60000
2. 60005
3. 60006
4. 60009

LCM of 2x2x3, 2x3x3 is
2x2x3, 2x3x3 BT TGAA FATgdeRf

1. 36
2. 30
3. 40
4 20

Which is the identity for the addition of rational numbers

3URAT A3 BT dAAT AT SADT BEA 3
1. 0

2. -1
3. 1
4 1
5



95.

96.

97.

A motorbike travels 220 km with 5 liters of petrol, then the
distance it covers with 3.5 liters of Petrol (in km)

U AleASIBA  elle Uald Uz 220 6.3, Tarat 3l
3.5 efleX Ugid R Ig fhaelt gt @ @t g1 (et &)
1. 66

2 154
3. 100
4 220

If the principal is Rs.1200 then the amount to be paid at the
end of 2 years (in Rs.), at 12% p.a.
S &. 1200 g a@f .12%

fa o &1t UR 2 AT & dIg JOAT B SAredrer! AT

(7w H)
1. 288
2. 1200
3. 488
4 1488

The number of independent measurements required to
construct a quadrilateral uniquely

agefst forafor BfeTe vwar smavas Tads A B FAsA

N
SN NN



98.

99.

100.

101.

A triangle with measures of 90°, 60°, 30° of angles is a

1. Right angle Triangle

2. Obtuse angle Triangle

3. Acute angle Triangle

4. Reflex angle Triangle

B1et &1 PioT AT 90°, 60°, 30° 3 dt 3F S &1 A
1. AHADIU By

2. simeor By
3.  gEpivT Brafe
4.  uRafda s Brage

Area of rectangle whose sides are 5x and (x + 1)

5x 3R (x+ 1) AT aret Y3 aTet TG BT &5 e

1. 5x* +5x
2. 5x+5x
3. 5x* —5x
4 5x°

1 hour and 120 seconds in minutes

1 ger 3R 120 Adbs Bl fHee A deaa 3

1. 65
2. 62
3. 72
4. 60

vStandard form of 31860000000
31860000000 AT BT HATAD SU

1. 3.186x10"
2. 3.186x107"°
3. 318.6x10"
4 318.6x107"



102. a°-b is equal to
>_p* P GRIER 3

a

1. (a+b)

2. (a=b)

3. (a—=b)(a+b)
4. (x+a)(a+b)

103. Raju’s age is ‘y’ years. His son’s age is half of the Raju’s age.
Then his son’s age is

IS B Y ‘y’ ¥ gl b A Pl 37 IS A 3medt 3
at 3T A P 3T

1. 2y
2. 2

2
3. y+2
4. y=2

104. Valueof x(x—3)+2 atx=1
x=1U93 x(x—3)+2 Bl ATl

Lol
2. 2
3.0 -1
40
10s. .18,
132" 132
T
132
2. 2
132
;. 18
132
s 2

132



106. Each bag has 475 kilo grams of sugar. Quantity of Sugar in 16

107.

108.

bags is (in kilograms)
&2 TP Aclt A 475 fararme et g1 16 Afer=n & paa
Thettarm diett gt A g1 (f6.a1.)

1. 500

2. 20000
3. 7600
4. 9000

Half the product of its diagonals of a Quadrilateral representa
1. Area of cube

2. Area of trapezium

3. Area of Circle

4. Area of Rhombus

agefot & famorl &1 3nem v F gorfar 372

1 AHELA BT 5B
2. JAHACT BT IBA
3. Td & A

4.  JAFAFYST SBA

Probability of getting an ace card from a well shuffled deck of
52 playing cards?
52 @1l THSI & UH 376! avg A s U arer A

UhSpl feTpeial bl Tl

1.



109.

110.

111.

A cricketer scores the following runs in eight innings, then the
Range of the data is

58, 76, 40, 35, 46, 45, 10, 100
UF fipdhez A 316 s A forear folea <ot gene &t ==

22T Bl Tl
58, 76, 40, 35, 46, 45, 10, 100

1. 60
2. 10
3. 100
4. 90

Ratio of 5 m to 10 km
5 #iez 3R 10 fpaleiez &1 gura

1. 1:2
2. 5:10
3. 1:2000
4 2 : 1000

If P is Principal , R is rate of interest and N is time period,
then the formula for the total amount when interest is
compounded annually.

HAeIe P ot 3t el R3R N &t 3mafy A adf &) vs

IR &Te (dehgfeg =TST) 0TS BRat &b el (PeT) bietw
3TaLTH 3

PNR
100

N
2. [P+ij
100
N
R
3. 1+—
p( 100}

R 2N
1+ ——
200

1.

&



112. Which is True

113.

114.

1. All squares are thombuses and also rectangles.
2. All rectangles are squares

3. All kites are rhombuses

4. All squares are not parallelograms

foroat Teiaa # A o8 Gt 3l

1. Al agemivr AFagas off § 3R 3mua eft
2. A 3G ag=HIv Bl

3. J9ft udol AeAgYs Bl
4

A TgpIvT AATTR TG B
Which is not an improper fraction
oot foRaa | a5 siferafaa fires a8t 81
L4

11
2. U

8
-

11
-

11

: : |
Leela is Radha’s younger sister. Leela is 15 years younger

than Radha. If Radha’s age is ‘p’ then the Leela’s age (in
years)

aﬂwamaﬁaﬁﬁaga%lﬁﬁwamﬁ%adaﬁ
31 e Bt MY ‘p’ g ot et o 3y (auf FH)

1. P+é

2
2. P+1
3. P-3
4. P2



115.

116.

METHODOLOGY

The book written by ancient mathematician

Mahaveeracharyulu

1. Leelavathi Ganitham

2. Ganitha Vahini

3. Ganitha Chandrika

4. Ganitha Sarasamgraham

STt JIfTas AGIARTET ®Y 9l -

1

2
3.
4

GIGIEGURINGE:
ot anfget
oTfoTa Gfgest
aIfvTd ARG

The value developed in a student by doing Puzzles, Sudoku,
Riddles and Magic square is

1. Disciplinary value

2. Utilitarian value

3. Cultural value

4. Entertainment value

ugferl, Jeig, udelt e, oiigs aof 3nfe &t A
Rreneffal & RrsRa g9aren ae= ...

1. STRITAATcHD FH

2. IUAINE FqeH

3. ARpd® A

4. HAARGE I



117. A teacher uses role play method to teach mathematics in his
class. His aim is

1. Projecting ideas

2. Keeping children busy

3. Maintain Discipline

4. Entertaining children

U {21216 A 31Uelt & A IV ue & o Aea’
Ugid &1 I B af 3TBT a3

1. foram=Y @t Stome

2. frenf¥fel & ==er wmen

3.  3IAd Pl T IS

4. Treneffal &1 AR deen

118. A tool helps the teacher in the classroom, to teach the abstract
concepts of mathematics is

1. Play material

2. Study material

3. Teaching Aids

4. Notes

oiftra & 3reqd sraeRoN3H P 3O B BieTw Ham A
f1e1es HfcTe Iugaa IuHor:

1. B 3UBT

2. 31T ATHI;M
3.  fereror wgrRIes Aeeh
4 fewmforen



119.

120.

“In preparing Mathematics curriculum, we should give the
priority to the student’s needs, interests and abilities”
According to the principles of construction of curriculum, this
statement belongs to which value of the following

1. Disciplinary value

2. Cultural value

3. Principle of utilitarian value

4. Principle of child centeredness

aifra urearssA & ferAfor & Bl @ smavTawansit, Sk,
THATT Bl STRATHBAT T SITell AMGT| UTGAHH 0TIl
ordl & 31gAR Ig HUe $H e A AdiAd gl

1 3TIRAS e

2. ARpla® A

3.  3UAINE e
4

aTeT Bisd Hed
The Evaluation based approach in writing lesson plan was
proposed by
1. D.S. Kothari
2. Herbart
3. Benjamin Blooms
4. Morrison

SeIal HiDe SR UIGTDhH HIsel (T3Pl S=FaE
T

1.  SL.UA. BloR!
2. gde

3. dfore <A
4.  HARH=S



121.

122.

123.

EVS

The jelly like substance between nucleus and the cell

membrane is

1. nucleoplasm

2. cytoplasm

3. protoplasm

4. Endoplasmic reticulum

Pogep 31T PIRMBT & dlE Tgaaret JNe ST gerf Ig gl
1 freTIATSTH
2. Acgeiter
3. oidagd
4 IRNAA

Goiter is a disease associated with
1. Adrenal gland
2. Pituitary gland
3. Thyroid gland

4. Pancreas
T 91 HAA AT Bl
1. sifigas aita

2. fTeged gy
3.  JRRIss Jfa
4. 3[R

If the force is applied on the objects in the direction of its
motion, the speed

1. increases

2. decreases

3. remains same

4, becomes zero

fopeft avg = 3AD! orfct Bt T H et eom@ S At rfa

1
2.
3.  ufdadd =gl gar
4



124. The plan to save the Ganga river, called the ‘Ganga action

125.

126.

plan’ was launched in the year

1. 1965
2. 1975
3. 1985
4. 1995
T ISt B TATA, Vo1 BRITEROT UM’ TH a6 A IS
P o1S ff?
1. 1965
2. 1975
3. 1985
4. 1995

The process by which heat is transformed from hotter end to
colder end in solids is

1. combustion

2. convection

3. conduction

4. radiation

T USRIt A H6AT, 91 R A 32 B &) 31k RIeiaikd
giat &Y Rearfa ag 3

1 gg

2 AT HAdgel

3. ST dgd

4. A1 fafeweor

The vascular tissues that transport substances in plants
1. xylem, phloem

2. xylem, plasma
3. phloem, root hairs
4. root hairs, xylem

HagelisHad it Giel & gt o uRags &2d 3
1.  Uu®p, UNG Hddb

2.  UN®G, AGH

3. It 3>, SIS ATl

4. TSI, SIS



127. A freely suspended bar magnet always comes to rest in the
direction of
1. North - South
2. East - West
3. East - South
4. West - North

U A 30 A TPl g3l &5 gad gelon 3 feom #

fo=T# 3razen A 3mar 3
1 3R - SI30T
2. U39 - gidaHA
3. @9 - afem
4 gidTa - gf3or

128. Natural calamities, poverty, unemployment are basic reasons
for
1. Agriculture
2. Education
3. Migration

4. Productiqn

UTpided 3MUETE, JRId 3R RIS 31f 3AF Ja
PR

L P

2 forem

3. IdrA

4 3ddlgd



129.

130.

131.

Skull, rib cage, back bone are the main parts of

1. Digestive system
2. Respiratory system
3. Nervous system

4. Skeletal system

TNUS!, gel fUerT, e 7 AT & q3T HAOT §

1 OTdel Id=zAT

2. YA FaRAT

3.  dfrer SgaRen

4 Bl FaTAT

My mother has a brother whose daughter is Sanjana. Sanjana
is my mother’s

1. sister

2. aunt

3. daughter

4. niece

I H P ATS Bl ISt FHolell g1 Hofell A AT B ...

ST 3

1. aga

2. A&

3. &

4 arcitett

The primary means of transport in desert

1. sledge

2 camel

3. boat

4. rope way

WrFaer A uRaga &1 Tg FHTHA AMEE g
TeroT

pod

1
2. e
3. &m@

4 A9 3



132. “If you land on a snake, do not frown. In this game, you go up

and down”. Name this game.

1. ludo

2. chess

3. snake and ladder
4, carroms

31T AT & UTA Uga dt A Ad| TGl IaTel A JoA A
agd WHIIS gl A JAA BT AH 3 ...

GEl

S|

HIH

L



SOCIAL STUDIES

133. This is a renewable resource
1. Coal

2. Petroleum
3. Natural Gas
4. Solar Energy

g U Gelhedicd HATL 3l

1 BT

2.  ucifer&H

3. HBld® 3O

4. AR Hor

134. The country that celebrates Christmas in summer is

1. Australia

2. America

3. France

4. China

T oIt A FFAaA HAerelaret 291 = 3?2
3T forn

1

2 3TAR®T
3. wiF

4 iG]



135. Devagiri was the capital city of

136.

1. Hoyasalas

2. Yadavas

3. Pandyas

4. Cholas

a1y sHH! TeTemE &
1 BI=AT

2 ladT

3. uigg

4 el

Every person has a fundamental right to be defended himself
by a lawyer as per this article
1. Article-23

2. Article-22
3. Article-24
4, Article-28
A 37TBE & 3AR §T ATGd Bl adbic gRT 39T I

T Bee BT Alfers 3ifEeR 3l
1. 3123
2. 3§22
3. 3§24
4. 31328
137. The most common way to purify water is
1. Cooling
2. Freezing
3. Melting
4. Boiling
ot Yfeeraszor &t Arenzor fafy

1 ST Bl
2. @Bl STHAT
3. Traeen

4 3qTetelt



138. He proposed ‘objective resolution’ in the inaugural session of
constituent assembly
1. Jawaharlal Nehru
2. B.R. Ambedkar
3. Sardar Vallabhbhai Patel
4. H.C. Mukharjee
HRA DI Aldemer AN’ & g AT A 36T HHed Bl

gfcuree Heel aret

1. SlagIcllcl g
2.  d1.3R. 3gHR
3.

IER et HTS Ued
4.  ga.h. gl

139. Bheemunipatnam municipality was established in this year
sfieferaeesta TR it &) Femuen 33 ad A g3l
1. 1881
2. 1871
3. 1891
4. 1861

140. This is not a common method to conserve land resources

1. Afforestation

2. Land reclamation

3. Use of Chemical fertilizers

4. Checks on over grazing

g fH AT &b HIe0T i fafy =gt 3

1 gaIRIgor

2. ofH®BIU

3. IaTafers 3demt w1 T

4.  OYST P AP WA R ez



141. Akbar built ‘Ibadat Khana’ for

1. Rest

2. Military training

3. Minting

4. Worship

3[BAT & ‘TAICd HATEAT Sel BIIT JeTdrT 21
1. fersma

2.  Aferes ufdreror

3. Tl &1 Fgur

4.  wrefam

142. “Bigha” means

1. A unit of measurement of land
2. A unit of measurement of labour
3. A unit of measurement of revenue
4. A unit of measurement of crops
‘Terar’ ament
1 HfH AU BT TP ATTD
2. S[H Bl Udh HAIY
3 31 ATUSA BT ATAD
4, BA! Dl ATUS BT HAlTb
143. The first Indian female Doctor was
1. Kadambini Ganguli
2. Bachendripaul
3. Anandibai Joshi
4. Savithribai phule
HRd B Ugcll AfGeT STz
1. Sl el
2 IS uTe
3.  3feictars oieft
4.  Afsharg get



144. Identify the mis matched pair

1. Prakasam Barrage - River Krishna

2. Dowleswaaram Barrage - River Godavari
3. Somasila Project - River Penna

4. Nagarjuna Sagar - River Kaveri

1

2. GAdR aTe - INSE we)
3.  AHAREA Telde - Ueelleial
4, ARNYA APR - HAI Q)

145. In the present formative assessment weightage table 40% of
marks are allotted to

1. participation and responses of children
2. written work of children
3. project works
4. slip test
adaTet eraAfoes Aeide R difetdt & 40%
3 dice forefRa fea 3
1. =l ) aeieR s afafsad
2. =@l & faraa sien
3.  uRwieEn &t
4. udl gdem
146. Teaching and learning should be
1. school centric
2. teacher centric
3. student centric
4. class centric
fareror 3R 3ifERTH A UBR Fiem AMZTI
1. e g
2. frers Higa
3. feremeft Bfea
4. of Bfea



147. *“Science is a quantity of knowledge which makes us learn
how we should be.” This definition was given by

1. Albert Einstein

2 A.W. Green

3. Carl Pearson

4 Robert Mach Arthur

‘Rrstet 5711 1 %R 8 SNl g HA Ige Rr&mar gl
Sufa ufRemsT gegiat @ 3



SOCIAL METHODOLOGY

148. ‘Social Science is the study of the Inter Relationship of
Historical, Geographical and social subjects defined by
1. J.V. Michaels

2. James Hemmings
3. Kothari Commission
4. National Educational Council

AT ‘OfdgiRae, shifere 31k Aefee fau= &
3faofd 31eTe’’ P Segial UTRHTRIA fepam

1. o.dl. ATsheA

2. oleF g

3. IR =T

4. I farem uRue

149. Identify the false statement regarding ‘Dramatisation’
1. Role players should be chosen carefully

2 The classroom should be considered as a stage
3. The script should be prepared in advance
4 The teacher should control the performance

ATCHIBDBIT b Adel A eTd DA Bl UgATeIC|
1 3HAAI3N BT T AT A B2

2. Pl Bl AT B THI A |

3. gl Bl Uge gl dUR Beel A1igu

4. e @1 ueefd R fermmr e Tifgul



150. The total marks allotted to project work in the Formative
Assessment is
1. 10 marks

2 15 marks
3. 5 marks
4 20 marks



